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Number of Questions to be attempted : 20

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266476
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226614361 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

During the reign of the Delhi Sulthan. Vascoda Gama landed in
India

1. Ibrahim Lodi
Z. Sikandhar Lodi
Mohmad Sha

LS ]

4. Firoj-Sha-Tuglaq
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 2 Question Id : 39226614362 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the incorrect statement

L Palpares contraries is a new Antlion Species

-2

Raochestes asakgrensis 1s a new frog species found in
Meghalaya

Koima 1s the oldest wild bird

Lad

4. IISR Surasa is a new Ginger variety

Options:
1. %1
2. % 2
3.3



4. % 4

Question Number : 3 Question Id : 39226614363 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the correct pairs

1, December 1* a.  International Day of persons
with Disabilities
il December 2**  b.  Indian Navy Day

iii. December3® ¢.  World’s AIDS Day

iv.  December 4™ d.  International Day for the
abolition of Slavery

1. 1-¢ in-d 1i-a iv-b
2. 1-d T1-a 1l = C iv-b
3 1-C ii-b m-d i1v-a
4, 1-C in-b 1i-a w-d
Options :
1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 4 Question Id : 39226614364 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding committees and it’s activities

i. Raja Challaiah Committee a. Andhra Pradesh bifurcation rules
il. Abid Hussain Committee ~ b.  Study on small scale Industries
iii. M.B. Sha Committee c. Indian Tax System

iv. AK. Antony Committee ~ d. Enquiry on black money

1. i<, 1-a, iii-b, 1v-d

2. 1-b, n-a, 1i-c. 1v-d

[_+d
ITlu-
=

1-d, 11-a. 1v-¢

4. 1, 1-b, 1i-d. 1v-a

Options :
1. %1
2. %2
3.%83
4. 4

Question Number : 5 Question Id : 39226614365 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose incorrect matching

1 Manu Charitra - Allasani Peddana
2! Basava Puranam - Palkuriki Somanadhudu
3. Ranganatha Ramayanam - Rangajamma
4. Bhimeswara Puranam - Srinadhudu
Options :
1. % 1
2. %)
3.¢43
4. % 4

Question Number : 6 Question Id : 39226614366 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Choose incorrect matching regarding woman empowerment
mitiatives and its launchings years

1. Beti Bachao. Beti Padhao - 2015
7.4 Pradhan Mantri Matru Vandana Yojana - 2019

Tad

Pradhan mantra Kaushal Yojana - 2015

4, Sexual harassment of women at work place act - 2013

Options :
1. %1
2.¥ 2
3.%83
4. % 4

Question Number : 7 Question Id : 39226614367 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Dance form and Artists

1. Bharatantyam  a.  Samyuktha Panigrahi
ii. Odissi b.  Rukmini Arandale
iii.  Kathakali ¢.  Radha Reddy

iv.  Kuchipudi d.  Uday Shankar

1. i-b 11-a 1u-d iv-¢

2. i-¢ 1-a i1-b 1iv-d

i-a 1u-c¢ m-d 1w-b

fsd

4. i-b ii-c iui-a iv-d

Options :
1.1
2. %2
3.%3
4, % 4



Question Number : 8 Question Id : 39226614368 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following with relation to organization and their
Headquarters.

i ADB a.  Dhaka

i, BIMSTEC b.  Bengaluru
.  ICICI c.  Mumbai
iv.  Canara d.  Manila

1. i-d 1-a 1-c¢  1v-b

6.2 i-a 1-c¢ 1-d 1v-b

i-d 1-a 1i-b 1-c

Tl

4. i-d 1-b 1i-c¢ iv-a

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 9 Question Id : 39226614369 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose 1n correct matching

|1 Vitamin B 12 - Cynacobalamin
2, Vitamin C - Ascorbic acid
3. Vitamin D - Tocopherol
4, Vitamin A - Retinol
Options:
1. % 1
2. %2
3.3

4. % 4



Question Number : 10 Question Id : 39226614370 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The first Indian Governor of RB.I. 1s
1. D. Subba Rao
2. C. Rangarajan
3. K. Hari Gopal
4, C. D. Deshmukh

Options :
1. %1
2. %2
3.%3
4, 4

Question Number : 11 Question Id : 39226614371 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair related to defense exercises and
participated countries

1. CINBAX : India - Cambodia

2. Harimau Shakti : India - Singapore

3 Desert Knight : India. France, and the UAE
4. SLINEX : India — Sri Lanka

Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 12 Question Id : 39226614372 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Nobel Prize-2024 winners in the field of Chemistry
1. David Bakar, Demis Hassabis, John M. Jumper
2. Victor Ambros. Gary Ruvkun

John J. Hopfield. Geoffrey E. Hinton

Lad

4, Daron Acemoglu. James A. Robinson

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 13 Question Id : 39226614373 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct answer regarding river and city

] Yamuna a. Ahmedabad
11. Sabarmathi b. Haridwar

i11.  Narmada N Delhi

iv.  Ganga d.  Hoshangabad
1. ta di=h wHizd ivee

2 i-c 1-a 1i-d iv-b

ii-d 1mi-a 1w-b

T

(S
1

L]

4. 1-b 1n-a 1m-d w-c
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 14 Question Id : 39226614374 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



India’s first vertical lift railway sea bridge
1. New Pamban Bridge

2 Atal Setu

3 Bandra Worli Sea Link

4, Bhupen Hazarika Setu

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 15 Question Id : 39226614375 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following i1s not a Padma Sr1 Awardee of 2025
l. Madugula Nagaphani Sarma

2. Manda Krishna Madiga

3. Nalli Kuppuswami Chetti

4. Miriyala Apparao

Options:
1. %1
2. % 2
3.3
4. % 4

Question Number : 16 Question Id : 39226614376 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Indian Oil Company came forward to make this state capital as
Piped Gas Capital

i Kerala

2 Jharkhand
Uttarakhand

4. Andhra Pradesh

LS |

Options :
1. %1
2. % 2
3.%3
4.9 4

Question Number : 17 Question Id : 39226614377 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Penugonda Lakshminarayana got this award for his critic work
‘Deepika Abhyudaya Sahitya Vyasa Samputi’
1. Jnanpith Award
5.8 Yuva Puraskar Award
3. Kendra Sahitya Academy Award
4. Saraswathi Samman Award
Options :
1. % 1
2. % 2

3.4 3
4. % 4

Question Number : 18 Question Id : 39226614378 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



2024, G-20 Summit held in Rio de Janeiro. the host for the
next G-20 summit 1s

1 India
2. China
2 Australia

4. South Africa

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 19 Question Id : 39226614379 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

16 years old mountaineer who completed 7 summit adventure
and becoming the second youngest in the world 1s

1. Viswanathan Karthikeya Padakanti

2 Santosh Yadav

Tad

Narendra Dhar Jayal
4, Mohan Sing Kohli

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 20 Question Id : 39226614380 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Name of the joint military exercise between India and the
United States conducted in November 2024 1s

1. Garuda Shakt

2. Parasu

(sl

Vajra Prahar

4. Dhanush

Options :

1. %1

2. % 2

3.¥3

4. % 4

Section 2

SectionId : 392266452
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266477
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 39226614381 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to the recommendation of NCF — 2005, the catalyst
that should change the implementations of a school is

1. Strict Supervision
2. In-service Education
3. Textbooks
4, Headmasters
Options :
1. % 1
2.¢2
3. %3
4. % 4

Question Number : 22 Question Id : 39226614382 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Developmental Domain’ that is NOT guided by RTE - 2009

1 Vocational development
2. Social development
3. Moral Values development
4. Aesthetic development
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 23 Question Id : 39226614383 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding Author and book

1. Kant a. Critic of pure reason

ii. John Dewey b. Sociology and education
iii.  Heidegger "o} Being and Time

iv.  R.J. Stalcup d. Schools of tomorrow

1. i-a, 11-b. 1-d. 1v-c

.} 1-a. 11-d, 1-c. 1v-b

1-b. 11-c. 1i-d, 1v-a

LS ]

4. i-c, 1u-b, 1i-d, 1v-a

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 24 Question Id : 39226614384 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Reasons for people’s opposition of girl child education were
studies by

1. Hans Mehata Committee
2 Baktavatsalam Committee

Kothari Commission

LS |

4, Eshwar Bai Patel Commuittee

Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 25 Question Id : 39226614385 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Recommendations on Socio, moral and spiritual Education
were given by

i Gokule Resolution
9 Shri. Prakash Committee
3. N. Janardhan Reddy Committee

4, Acharya Ram Murthy Committee

Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 26 Question Id : 39226614386 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to NEP - 2020. State Quality Assessment and
Accreditation Framework should be formed by
1. Directorate of School Education of the State
2. NCERT along with NCTE
SCERT
4. An Assessment cell under MHRD. Gol

(8]

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 27 Question Id : 39226614387 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

a. Buddha - Ashtanga marga
b. Pathanjali - Ashtanga yoga
E: Vardhamana Mahavira - Pancha Maha Vratha
d. Yagnavalkya - Nava Sugunas
I ab.cd
£.3 a,b.d
3. a,c,.d
4. bc.d

Options :

1.¥1

2. % 2

3.%3

4. % 4

Question Number : 28 Question Id : 39226614388 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
FALSE statement related to section — 7 of RTI-2005

1. Information must be provided within 30 days from the
date of receipt of request.

2. Information concerns a person’s life or liberty must be
provided within 45 hours.
3. Information must be provided within 35 days when
application is submitted to APIO.
4, Responding to the Application by giving information
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 29 Question Id : 39226614389 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Current Chairperson for Protection of Child Right NCPCR
1. Priyank Kanoongo

Dr. Shanta Sinha

Stuti Narain Kacker

4. Kushal Singh

-2

[ ]

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 30 Question Id : 39226614390 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In India. Human Rights were first proposed in this bill
L. Swarajya Bill
2. The Waqf Bill

The Boilers Bill

4. The Special Marriages Bill

fad

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 31 Question Id : 39226614391 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Rastriya Avishkar Abhivan is meant for the children of age
group (in years)

i 6-14
2 5-10
3. 6-18
4. 3-18

Options:

1. %1

2. % 2

3.3

4. % 4

Question Number : 32 Question Id : 39226614392 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

UN organization that 1s working directly for Peace Education
1. UNID
2 UNESCO
3. IAEA
4. IMF
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 33 Question Id : 39226614393 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Decentralization of Education Sector is due to the amendments
in the Indian Constitution

I. 74.78
2, 74,73
3. 76, 75
4. 72,74

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 34 Question Id : 39226614394 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s a mental disability because of chromosomal

abnormality
1 Down’s Syndrome
2. Cerebral Palsy
3. Autism
4. Cystic Fibrosis
Options:
1.941
2. % 2
3.%3
4. % 4

Question Number : 35 Question Id : 39226614395 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Inclusive Education is the fundamental right (of children)
according to

1. Lipsky. Gartner

2. Christensen

Salmanaca Statement. UNESCO
4, CSIE

Td

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 36 Question Id : 39226614396 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: T+A+O+M~+J _
In unit cost formula %)\ ‘] refers to
I y
L. Staff salaries
2. Equipment cost
g 3 Number of students
4. Co-curricular activities cost
Options :
1. % 1
2. % 2
3.%3
4.4 4

Question Number : 37 Question Id : 39226614397 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘The School Plant should become a Leaning Laboratory for
pupils and Community Center for society.” according to

1. Secondary Education Commission - 1953

2. National Education Commission - 1966

L |

National Policy on Education - 1986
4. Programme of Action (PoA) - 1992

Options :
1. %1
2.¥ 2
3.%83
4. % 4

Question Number : 38 Question Id : 39226614398 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT the member of NCERT

I, The Minister of Education (ex-officio)
2 Chairman of the UGC (ex-officio)
3, Vice — Chancellors of University

4. Member of Rajva Sabha

Options :
1. %1
2. %2
3.%83
4.9 4

Question Number : 39 Question Id : 39226614399 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Major languages of Buddist Education
1. Sanskrit. Vedic Sanskrit

Paali. Prakrit

Avestan, Ardha Magadi

2

Tad

4, Demotico, Coptica

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 40 Question Id : 39226614400 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Let the child be child before it is a man.” said by

1. Rene Decarte

2. Rousseau

3 Spinoza

) Fransis Becon
Options :
1. %1
2.9 2
3.%3
4, % 4

Section 3

Section Id : 392266453
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 10

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 392266478
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226614401 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy and a girl were born as twins. The girl started walking
at the age of nine months. but the boy could walk after
attaining the age of 1 year. The developmental principle
reflecting here is

Principle of discontinuity

1
:. Principle of individual difference

fsd

Principle of interrelation

4. Principle of cephalo caudal tendency

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 42 Question Id : 39226614402 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In general the following emotion is not found in children at the
age of 6 months

1 Anger
2. Annoyance
3. Fear
4. Jealousy
Options :
1. %1
2.¥ 2
3. %3

4. % 4



Question Number : 43 Question Id : 39226614403 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Piaget. the stage in which individuals are able to
think abstractly. test hypothesis and deal with problems that
are not physically present in an environment 1s

Sensory motor stage

1
2. Preoperational stage

L |

Concrete operational stage
4, Formal operation stage

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 44 Question Id : 39226614404 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Chomsky

i Language is learnt through external stimuli and
reinforcement.

2. Humans are born with innate capacity for language.

3 All human languages possess different grammar and
structures.

4. Language 1s learnt only with the help of teachers and

family members.

Options:
1. %1
2.¥2
3.%3
4, % 4

Question Number : 45 Question Id : 39226614405 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Wrongly matched pair in relation to Kohlberg’s theory among
the following 1s

Level I stage 1 — Obedience - punishment orientation

1
2. Level IT stage 3 — Good boy/girl morality

Tad

Level IT stage 4 — Authority and social order
maintaining morality

4, Level III stage 5 — Morality of individual principles and
conscience

Options :
1. % 1
2. %2
3.%¥3
4.+ 4

Question Number : 46 Question Id : 39226614406 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mechanical aptitude test among the following are

a. Finger dexterity test
b. Use of things test
C: Minnesota manipulation test
d. Hidden shapes test
L. a.b
2. b.d
3. a. c
4. d. c

Options :

1. % 1

2. % 2

3.43

4. % 4



Question Number : 47 Question Id : 39226614407 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following psychologist stressed on the importance of an
individual’s self for determining the process of his growth.
development. and appropriate adjustment to his environment
1 Carl Jung

2. Carl Rogers

Erikson

4. Allport

LS

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 48 Question Id : 39226614408 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Psychologist while analyzing the responses of a subject to
Rorschach inkblots test used the scoring symbols H. A. Ad.
Hd. These are related to the category

1 Location
8 Content
3. Originality
4. Deternunants
Options:
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 49 Question Id : 39226614409 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

A 8 year old girl is able to solve intelligence tests prescribed
for the children of age 6 years only. She could not do any
more. Her 1.Q. is

¥ 23
2. 50
3. T3
4, 132

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 50 Question Id : 39226614410 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In an experiment the following variable 1s under the control of
the experimenter

L Independent variable

2 Dependent variable

L |

Intervening variable

4. Extraneous variable

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 51 Question Id : 39226614411 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Understanding sign language is an example for

Stimulus Generalization

1
2 Stimulus discrimination

LS ]

S]JOI]'[HIIEDHS ICCOVETLY

4. Higher order conditioning

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 52 Question Id : 39226614412 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Correct sequence of Observational Learning Steps, according
to Bandura 1s
1 Attention. Reinforcement, Performance. Retention
s Attention. Retention. Reinforcement. Performance
3. Performance. Attention. Retention. Reinforcement

4. Attention. Retention. Performance. Remforcement

Options:
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 53 Question Id : 39226614413 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Wrongly matched pair among the following is

1 Operant conditioning - R type conditioning
2. Classical conditioning - S type conditioning
3. Trial & Error - Bond psychology
4, Insightful learning - Connectionism

Options :

1. % 1

2. %2

3.%3

4.9 4

Question Number : 54 Question Id : 39226614414 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy is given freedom to take decisions prior to this maturity
level by his parents. The type parenting

Uninvolved parenting style

1
2 Authoritarian parenting style

LS |

Authoritative parenting style

4. Permussive parental style

Options :
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 55 Question Id : 39226614415 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following is NOT a cause of forgetting

1. Over leaming
2. Proactive inhibition
3. Repression
4. Retroactive inhibition
Options :
1.4 1
2. %2
3. %3
4. % 4

Question Number : 56 Question Id : 39226614416 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Habit interference is an example for

1. Positive transfer
2. Negative transfer
3. Zero transfer

4. Bilateral transfer

Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 57 Question Id : 39226614417 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Formula of the median for an ungrouped data with even
numbers 1s

. Tt
1 T Z A
27 (V)
N N
GHE)
2 —
2
3 ;111;{:&
N
4 L+ % x C
A+ A,
Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 58 Question Id : 39226614418 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following is known as counselor centered counselling

1. Directive counselling

-2

Non Directive counselling

(S ]

Eclectic counselling

4. Marital counselling

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 59 Question Id : 39226614419 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

According to PWD Act 1995. the following 1s NOT
considered as blindness
1. Total absence of sight
2 Visual acuity 6/60 or worse in the better eye
3. Visual acuity between 6/9 and 6/18
4. Field vision limited to an angle of 20° or less
Options :
1. %1
2. %2

3.4 3
4. % 4

Question Number : 60 Question Id : 39226614420 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Army Alpha Test is a

a. Group Test

b. Verbal Test
Paper Pencil Test

d. Speed Test

B Individual Test

1. 1. b ec.oe
2. a.c.d e
5 a b.c d
1. bede

Options :

1. % 1

2. %2

3.43

4. % 4
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Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266479
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 39226614421 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Commerce is related to:
1. Production of goods
2. Provision of services
% Exchange of goods
4. Non — Economic Activity
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 62 Question Id : 39226614422 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following comes under extractive industry

i 3 Cattle breeding
2. Fish hatcheries
3. Nurseries

4. Fishing



Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 63 Question Id : 39226614423 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Characteristics of JHF do not include
1. Membership by birth
2. Unlimited lability of Karta
3. Unaffected by death

4. Youngest member of family 1s Karta

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 64 Question Id : 39226614424 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A partner who shares profits but does not participate in
business 1s called

1. Nominal partner
2. Sleeping partner
3 Active partner

4. Partner by estoppel

Options :
1. %1
2.9 2
3.%3
4, % 4



Question Number : 65 Question Id : 39226614425 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is not a principle of co-operatives

1L Voluntary association

o

Democratic management

[N

Co-operation among the co-operatives

4. Profit sharing

Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 66 Question Id : 39226614426 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Single person economic entity known as
1. Limited company

2. Limited liability partnership

L |

One person company

4. Private company

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 67 Question Id : 39226614427 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Transfer of shares from one share holder to another is

restricted in company.
L. Public company
2 Private company
3. Government company
4. Statutory company
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 68 Question Id : 39226614428 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A public enterprise 1s an undertaking owned and controlled by:

1, Government
2. Public
3. Private sector

4. Board of Directors

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 69 Question Id : 39226614429 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following is not a principle of msurance

1. Utmost good faith
2 Contribution
3. Indemnity
4. Protection
Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 70 Question Id : 39226614430 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The 1s not the external factor that determines the
working capital requirements of firm
L. Technological development
2. Business cycle
3. Change in demand for products
4. Size of business

Options :

1. % 1

2. % 2

3.%3

4.4 4

Question Number : 71 Question Id : 39226614431 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Debentures represent
1. Fixed capital of the company
2. Permanent capital of the company

Fluctuating capital of the company

T4l

4. Loan capital of the company

Options :
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 72 Question Id : 39226614432 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A private limited company cannot raise finances from the

1. Commercial banks
2. Development financial Institutions
3. Relatives
4. Issues of shares to the public
Options :
1. % 1
2. % 2
3.%3
4.4 4

Question Number : 73 Question Id : 39226614433 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Ministerial conference is

1. The highest hierarchical level in the organizational
structure of WTO

2. The middle layer in the organizational structure of
WTO.

Tad

The lower layer in the organizational structure of WTO
4, Not connected to WTO

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 74 Question Id : 39226614434 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which was established primarily to provide finance to less
developed member countries on a ‘Soft” loan basis?

1. IEC
2. IMF
3 World Bank
4. IDA
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 75 Question Id : 39226614435 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per the General Agreement on Trade in Services (GATS).
WTO member should give equal treatment.

1. To the services imported from any member country

2. To the goods imported from any member country

3. To all 1ts citizens

4. To all goods produced in the country

Options :
1.1
2. % 2
3.%3
4, % 4

Question Number : 76 Question Id : 39226614436 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is not an advantage of external

recruitment?
1. Good performance is rewarded
2. Scope for resentment. jealousies and heartburn are
avoided
3. Benefits of new skills, new talents and new experiences
to organization are available
4, Compliance with reservation policy becomes easy.
Options :
.41
2. %2
3.%3
4. % 4

Question Number : 77 Question Id : 39226614437 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following is not a component of job analysis?

L. Job description

-2

Role analysis

T4l

Job summary

4. Job specification

Options :
1. %1
2.¥ 2
3.%83
4. % 4

Question Number : 78 Question Id : 39226614438 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Arrange the following stages of staffing in correct sequence
and indicate the code of correct sequence.
1) Performance appraisal
1) Recruitment
111)  Selection
1v)  Induction and orientation

Choose the correct answer from the code given below
codes:

1. (1v). (11). (111). (1)
2. (1). (11). (1v). (111)
3. (11). (11). (1v). (1)
4. (11). (1). (1v). (1)

Options:

1. %1

2. %2

3.3

4, % 4

Question Number : 79 Question Id : 39226614439 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Which of the following is not the external source of
recruitment?

1. Trade associations
2. Walk-ins

Employment exchanges

()

4. Promotion and transfer’s

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 80 Question Id : 39226614440 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An interview conducted at the time of an employee leaving the
organization is called.

Exit Interview

1
2 Feedback interview

L

Convincing interview

4, Retrenchment

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 81 Question Id : 39226614441 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which one of the following is not an element of internal

environment
L. Mission / Objectives
2 Human resources
3. Customers
4. Shareholders values
Options :
1. % 1
2. % 2
3.+3
4. % 4

Question Number : 82 Question Id : 39226614442 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match items of List I with List II relating to Macro
environment of business and Indicate the code of correct

Matching
List—1 List —1II
A) Economic environment 1) Ethical issues
B) Political and Government 2) Trade and transport

policies environment

C) Socio — cultural environment 3) Economic stratification
of population

D) Demographic environment  4) Judiciary powers
I, A-2. B-4. C-1. D-3
2. A-1. B-3. C-2. D4

3 A-4. B-2. C-3. D-1
4, A-3. B-1. C4. D-2
Options :
1.¥1
2. % 2

3.%3



4. % 4

Question Number : 83 Question Id : 39226614443 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The most important goal of financial management is

I Profit maximisation
2. Matching income and expenditure

Tad

Using business assets effectively

4. Wealth Miximisation

Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 84 Question Id : 39226614444 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The cost of monitoring management is considered to be
1. Bankruptcy cost
2 Transaction cost
3 Agency cost
4, Institutional cost
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 85 Question Id : 39226614445 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Given
Operating fixed costs - ¥ 20.000

Sales - ¥ 1.00.000
P/V Ratio - 40%
The operating leverage is:
L. 2.00
2. 2.50
3. 2.67
4. 2.47
Options:
1.¥1
2. %2
3.%3
4. % 4

Question Number : 86 Question Id : 39226614446 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If margin of safety 1s 0.25 and there 1s 8% increase in output.

Then EBIT will be:
1. Decrease by 2%
Z. Increase by 32%

L ]

Increase by 2%
4, Decrease by 32%

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 87 Question Id : 39226614447 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the 1tems of list — I with the 1tems of list — II and choose
the correct answer from the code given below.

List—1 List—1I
(Propounder of Theory) (Theory of Motivation)
a) Dr. William Ouchi 1) X Theory
b) Douglas McGregor i1) Need Hierarchy Theory
c) Frederick Herzberg ii1) Z Theory
d) A. H. Maslow iv) Hygiene Theory

L (@-(@i). ®)-@1. (©->Gv), (d-(i)
2. @-@). (b)-@. (©)-au). (d)-Q)
3. (@-@), (b)—(@u), (c)—@v), (d)-@)
4. (@-@), (b)-@). (¢)—(u). (d-av)

Options :

1.¥1

2. % 2

3.%3

4. % 4

Question Number : 88 Question Id : 39226614448 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
As per the Herzberg’s Hygiene Theory of motivation. which
among the following 1s not a motivational factor?
1. Recognition
2 Working conditions
3. Responsibility
4, Achievements
Options :
1. %1
2.¥2

3. % 3
4. % 4



Question Number : 89 Question Id : 39226614449 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Staffing includes
1) Training
i1) Appraisal
111) Placement
iv) Directing
1. (1) and (111)
2. (1). (11) and (111)
3. (11) and (111)
4, (1), (11). (111). (1v)
Options :
1. % 1
2. % 2

3.%3
4.9 4

Question Number : 90 Question Id : 39226614450 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which among the following is not included in seven P’s of
marketing mix given by Booms and Bitner?

1. Process
2. People
3. Physical evidence
4. Politics
Options:
1. % 1
2. %2
3.%3

4.9 4



Question Number : 91 Question Id : 39226614451 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What is mass marketing?

¥ Offering the same products and marketing mix to all
CONSumers
- Offering variety of products to the entire market

fsd

Offering differentiated products to all customers

4. Following concentrated marketing strategy

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 92 Question Id : 39226614452 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is not one of the three primary
dimensions of a firm'’s product mix?

1. Width
D Benefits
3. Depth
4. Consistency
Options:
1. %1
2.9 2
3. %3
4. % 4

Question Number : 93 Question Id : 39226614453 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The pricing strategy which adjusts the basic price to
accommodate differences in customers, products and locations
is called

1. Differentiated pricing

2. Promotional pricing

3. Geographical pricing

4. Price discounts and allowances
Options :
1.¢1
2. %2

3.%¥3
4. % 4

Question Number : 94 Question Id : 39226614454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Target marketing mmvolves which of the following activities
a) Market positioning
b) Market targeting
¢) Market behaviour
d) Market segmentation
Codes:

i (a) and (b)
2. (b) and (d)
3 (a). (b) and (d)
4, (b). (¢) and (d)

Options :

1. % 1

2. %2

3.3
4. % 4

Question Number : 95 Question Id : 39226614455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

One of the following characteristics is not related to mission
statement.

i It should be distinctive
2. It should be precise but explanatory
3. It should be clear. both in terms of intentions and words

4. It should focus on what is immediately beneficial

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 96 Question Id : 39226614456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

For which of the situations 1s line organisation structure

suitable?
i: Highly diversifies organisation
2. Small organisation
3. Organisation with many projects
4, Large organisation

Options :

1. %1

2. % 2

3.%3

4. 4

Question Number : 97 Question Id : 39226614457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Fayol identified how many functions of management:

1. Four
2. Three
3. Twelve
4. Five

Options :

1. %1

2. % 2

3. %3

4. v 4

Question Number : 98 Question Id : 39226614458 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Division of work promotes:
1. Specialisation
2 Inefficiency
3. Wastage

4. Confusion

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 99 Question Id : 39226614459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The opportunity cost approach for valuing human resources

was developed by

I William C. Pyle

2. Rensis Likert

3. HC Kiman and Jones

4, Flamholtz

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 100 Question Id : 39226614460 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which one of the following is not an element of
communication process?

1. Encoding
2 Channel
3. Receiver
4, Measurement
Options:
1. % 1
2. % 2
3. %3
4. 4

Question Number : 101 Question Id : 39226614461 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first ADR was introduced by J.P. Morgan in the vear
1. 1937
2: 1947
3. 1927
4. 1917
Options:
1. %1
2. %2
3.3
4. % 4

Question Number : 102 Question Id : 39226614462 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Who is the 26™ governor of RBI

1. Sanjay Malhotra
2. Shakthi Kantha das
3. Y. V. Reddy

4, Urjit Patel

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 103 Question Id : 39226614463 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



They can be issue to individuals. corporations. and companies
during periods of tight liquidity when the deposit growth of
banks is slow. but the demand for credit is high

1. Commercial paper’s
2. Call money
3. Commercial bill

4. Certificate of deposit

Options:
1. % 1
2. %2
3.%3
4.9 4

Question Number : 104 Question Id : 39226614464 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of these is the regulatory body for the capital markets

in India?

1. National Bank for Agriculture and Rural Development
(NABARD)

2. Securities and Exchange Board of India (SEBI)

LS

Insurance Regulatory and Development Authority
(IRDA)

4, Reserve Bank of India (RBI)

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 105 Question Id : 39226614465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following is not the consumer disputes redressal

agencies
i. District forum
2. State Comumission

(8]

Municipal Commission

4. National Comumission

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 106 Question Id : 39226614466 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What 1s the fiscal Jurisdiction of the District Commission
under CPA —2019.
1. upto I 1 crore
2. upto ¥ 5 crore
3. upto I 10 crore
4. above ¥ 10 crore
Options :
1. ¢ 1
2. % 2
3. %3
4, % 4

Question Number : 107 Question Id : 39226614467 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The competition Act
. 2005
2 2007
3. 1969
4. 2002
Options :
1. % 1
2. %2
3.%3
4.4 4

Question Number : 108 Question Id : 39226614468 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The central bank can significantly influence the savings.
investments and consumer spending in the economy through
which of the following policy?

L, Industrial policy

2 Fiscal policy

L |

Monetary policy

4, Export policy

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 109 Question Id : 39226614469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In partnership there exists a relationship of
. Principle and agent

4 Owner and servant

LS |

Employer and employee
4. Debtor and creditor

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 110 Question Id : 39226614470 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The voting right in a co-operative are

1. Omne man. one vote
2. One vote for every share held
3. One vote for every 100 shares held
4. According to the services provided by members
Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 111 Question Id : 39226614471 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following will be goods for a business run by a
furniture merchant.

L. Electrical appliances
2. Shoes

Tables and chairs

LS ]

4. Pens and pencils

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 112 Question Id : 39226614472 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Assets are ¥10.00.000 and liabilities are ¥2.00.000. His capital
would be

1. < 10.00.000
2 < 8.00.000
3 < 2.00.000
4. < 12.00.000

Options:

1. %1

2.9 2

3.%3

4. % 4

Question Number : 113 Question Id : 39226614473 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Accounting of a small calculator as an expense and not as an
asset 1s due to convention

1. Disclosure
2. Conservatism
3. Materiality
4. Consistency
Options :
1. % 1
2. %2
3.v3
4, % 4

Question Number : 114 Question Id : 39226614474 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The convention that states the accounting practice should be
followed consistently over the years

1. Consistency
2 Disclosure
3. Conservation

4. Materiality
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 115 Question Id : 39226614475 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Cash purchases are made at the list price of ¥ 40.000 at a trade
discount @ 5% and a cash discount (@ 2%. Cash payable 1s

1. < 40.000
X < 38.000
3. < 37.240
4. < 38.800

Options :

1. % 1

2. % 2

3.3

4, ® 4

Question Number : 116 Question Id : 39226614476 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Wages paid for installation of assets should be debited to
1. Assets Alc
2. Wages Alc
3 P&L Alc
4. Trading A/c

Options:

1.41

2. %2

3.%3

4. % 4

Question Number : 117 Question Id : 39226614477 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A transaction affects three accounts, one account is debited by
< 7.500 another account 1s credited by T 9000. Third account
will be

1. debited by ¥ 9000
2. debited by T 1500
3. credited by ¥ 7.500
4. credited by ¥ 1.500

Options :

1.¢1

2. %2

3.%3

4. % 4

Question Number : 118 Question Id : 39226614478 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following accounts have only credit balance?
I, Salaries Outstanding Account
2. Salaries Paid Account

Cash Account

()

4. Accounts Receivable Account

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 119 Question Id : 39226614479 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If credit side 1s more than the debit side the balance 1s shown

as
1. To balance c/d (on debit side)
%4 By balance c/d (on debit side)
3. To balance c/d (on credit side)
4. By balance ¢/d (on credit side)

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 120 Question Id : 39226614480 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The balance in the petty cash book 1s

1. Income
2. an expense
3. a profit
4. an asset
Options :
1. % 1
2. %2
3.%3
4. 4

Question Number : 121 Question Id : 39226614481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The primary record of a credit purchase of a fixed asset 1s

made in
1. Sales Book
2. Journal proper
3. Cash Book
1. Purchase Book
Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 122 Question Id : 39226614482 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In case of a debt becoming bad, the amount should be credited
1o

1; Trade Receivables A/c
2. Bad debts A/c
3. Bad debts recovered A/c
4. Cash A/c

Options :

1.9 1

2. %2

3. %3

4. % 4

Question Number : 123 Question Id : 39226614483 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Wages paid for installation of machinery debited to wages
account. This 1s an error of

1. Omission

2 Principle

3. Commission
4. Duplication
Options :
1. % 1
2.¥2
3. % 3
4. % 4

Question Number : 124 Question Id : 39226614484 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Bills Receivable Book is part of
1. Journal

2 Ledger

LS |

Trail Balance

4. Profit and Loss Account

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 125 Question Id : 39226614485 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Closing stock balance given in the debit side of the trail
balance will be written in financial statementin

i Asset side

2 Liabilities side

3 Trading A/c credit side

4, Trading A/c Debit side

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 126 Question Id : 39226614486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sales ¥ 3.00.000. profit = 1/3™ on cost. cost of goods available
for sale T 5.00.000. purchases ¥ 1.00,000. closing inventory is

L. < 2.00,000
2. < 3.00.000
3. T 2,75.000
4. < 2.00.000

Options :
1. % 1
2. % 2
3.¥3
4, % 4

Question Number : 127 Question Id : 39226614487 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Depreciation on the diminishing balance method ¥ 2,000 at the
rate of 10% p.a. after three years will be

1. < 1.400
2. T 1.458
3. < 542
4. < 600

Options :

1. %1

2.9 2

3.%3

4, % 4

Question Number : 128 Question Id : 39226614488 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Del Credere Commission 1s payable on
2 Cash sales
2. Credit sales
3. Net Profit
4. Net sales

Options :

1. % 1

2.¢2

3. %3

4. % 4

Question Number : 129 Question Id : 39226614489 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Under mstallment payment system ownership of goods.

1. 1s transferred at the time of last installment
2. 1s not transferred
. is transferred at the time of agreement
4, 1s transferred at the time of first installment
Options :
1. % 1
2. %)
3.¢3
4. % 4

Question Number : 130 Question Id : 39226614490 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The balance in the share forfeiture A/c after the forfeited
shares are 1ssued should be transferred to

L. General Reserve Alc
2 Securities premium Reserve A/c
3, Capital reserve A/c

4, Profit and Loss A/c

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 131 Question Id : 39226614491 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If the proposed dividend is 20%. The percentage of profits to
be transferred to reserve is:

1. 2.5%
2 7.5%
3 15%
4. 10%

Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 132 Question Id : 39226614492 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Two companies P Ltd. And Q Ltd. go into liquidation to form
anew company R Ltd. it 1s

1. Amalgamation

2 Absorption

3. External Reconstruction

4. Internal Reconstruction

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 133 Question Id : 39226614493 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Amount due to the Government for purchases of goods is an
example of

1. Unsecured creditor
5 Preferential creditor
3. Preference share holder
4. Secured creditor
Options :
1.4 1
2. %)
3. %3
4. % 4

Question Number : 134 Question Id : 39226614494 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Subscribed capital of a banking company must be one-half of:

i Unissued capital

-2

Authorised capital

Issued capital

L |

4, Called —up - capital

Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 135 Question Id : 39226614495 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The 1tem swrender value 1s related to mnsurance business

1. Life Insurance
2. General Insurance
3 Fire Insurance
4. Marine Insurance
Options :
1.1
2. %2
3. %3
4. % 4

Question Number : 136 Question Id : 39226614496 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the calculation of net profit ¥ 10,00,000 for the period.

< 20.000 profit on sale of an asset and ¥ 10,000 depreciation
have been taken into consideration. In this case funds from
operations will be

1. < 10.00.000
2. < 10.30.000
3. < 9.90.000

4. < 10.10.000

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 137 Question Id : 39226614497 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Increase i the amount of creditor’s results in:
1. Decrease in cash

2. Increase in cash

Tad

No change in cash

4. Increase i debtors

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 138 Question Id : 39226614498 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which method of inflation accounting is more commonly

used?
1, The historical cost method
2. The current purchasing power method
3. The cash basis method
4. The accrual basis method
Options :
1. % 1
2.¢2
3. %3
4. % 4

Question Number : 139 Question Id : 39226614499 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which Ind As relates to leases?

L. Ind AS 23
2. Ind AS 24
3. Ind AS 17

4. Ind AS 12



Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 140 Question Id : 39226614500 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

List—1 List—1I
A) Measurement of Income 1) Accrues to the equility of
curves
B) Recognition of expense 2) Recognition of revenue
C) Basis of realization 3) Matching revenue with
expenses
D) Identification of revenue 4) Accounting period
1 A-1, B-2, C-3, D-4
2. A-2, B-1, C-3, D-4
3. A-3, B-4, C-1, D-2
4, A-3, B-4, C-2, D-1
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 141 Question Id : 39226614501 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A and B are partners in a firm sharing profits in the ratio of
1~ Id

3 : 2. They admit “X™ as a partner for 1/3™ share in profits of
the firm. The new profit sharing ratio of A. B and X 1s
i 3:2:1

2z 0

Lad

.
FEY

2
4. e Rt

Lad

&
1

Options :
1. % 1
2. %2
3.%¥3
4.9 4

Question Number : 142 Question Id : 39226614502 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Arrange the following parties in the event of dissolution of a
firm

a) Secured creditor’s
b) Unsecured creditor’s
¢) Partner’s who have granted loans

d) Partners who have contributed over and above profit
sharing Ratio.

b.acd
2 a b c.d
3. a.b.d. c
4. b-adic

Options :

1. % 1

2.¥2

3. %3

4, % 4

Question Number : 143 Question Id : 39226614503 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In an organization, profit after interest. tax and dividend on
preference shares 1s ¥ 4.00,000. The number of equity shares is
40.000 and the dividend payout ratio 1s 40%. The dividend per
share is

L. T4
2. X 25
3. % 10
4. 6

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 144 Question Id : 39226614504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Working capital ratio is also known as
L Quick Ratio
2. Debt — equity Ratio

Current Ratio

L |

4. Liquid Ratio

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 145 Question Id : 39226614505 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In cash book debit balance at ¥ 112 was brought forward as
credit balance at ¥ 121. While preparing a bank reconciliation
statement taking the balance as per cash book as the starting
point:

. T 112 to be added

2 T 233 to be added

3. T 121 to be added

4. T 112 to be subtracted
Options :
1. %1
2.¥2

3.%¥3
4. % 4

Question Number : 146 Question Id : 39226614506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Bank balance as per cash book is ¥ 7.800. Bank charges of
X 75 debited by bank but not recorded in cash book. The
passbook balance 1s

L < 7,875
2. < 7.800
3. R 15129
4. < 7.000

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 147 Question Id : 39226614507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Preference shares carry a fixed rate of dividend which is to be
paid before

1. Payment of debenture interest
2. Payment of income tax
i Distribution of equity dividends
4, Payment of loan interest
Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 148 Question Id : 39226614508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a share of ¥ 10 on which ¥ 7 has been called and ¥ 4 1s paid
1s forfeited, the capital account should be debited with

3. < 10
2. X7
3. 74
4, <3

Options :

1. %1

2.¥ 2

3.%3

4. % 4

Question Number : 149 Question Id : 39226614509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Donation received for a specific purpose:

i Should be credited to separate account and shown on
the liabilities side of the balance sheet.

2 Should be credited to income and expenditure account

3. Should be debited to income and expenditure account

4, Should not be recorded at all

Options :
1.9 1
2. %2
3.%¥3
4, % 4

Question Number : 150 Question Id : 39226614510 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AJc 1s credited and AJc 1s debited in
case wages are paid for construction of business premises.
1. Cash. wages
2, Cash, premises
3. Premises. cash
4, Wages, cash

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 151 Question Id : 39226614511 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements accurately describes the
industrial policy of India before the liberalization.,
Globalization and privatization reforms?

L. The Industrial Policy before 1991 was a pro-public
sector reform

2. The Industrial Policy before 1991 was a pro-private
sector reform.

LS

The Industrial Policy before 1991 was an anti-public
sector reform.

4. The Industrial Policy before 1991 was an anti-private
sector reform.

Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 152 Question Id : 39226614512 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The adjusting entry for prepaid expenses is
1 Expenses a/c Dr
To prepaid expenses a/c
2 Prepaid expenses a/c Dr
To expenses a/c

Tad

Prepaid expenses a/c Dr
To cash a/c

4. Expenses a/c Dr
To cash a/c

Options :
1. %1
2.9 2
3.%3
4. % 4



Question Number : 153 Question Id : 39226614513 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Stock of ¥ 4,000 is destroyed by Fire. It was fully covered by
msurance. Accounting entry is

1. Stock a/c Dr 4000
To trading a/c 4000
2! P&L a/c Dr 4000
To trading a/c 4000
3. Trading a/c Dr 4000
To insurance claims a/c 4000
4. Insurance claim a/c Dr 4000
To trading a/c 4000
Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 154 Question Id : 39226614514 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Consumer protection Act 2019 came into effect by
L. 8 July 2020
2. 20 July 2020
3 20 August 2020
4. 20 August 2019
Options:
1. %1
2.¥2
3.%3
4. % 4

Question Number : 155 Question Id : 39226614515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

The closing capital of Mr. Harsha was Rs. 8000. Opening
capital was Rs. 6000. He introduced Rs. 1500 during the year.
Drawings for the year was Rs. 2000 profit during the year will
be

1. Rs. 3000
2. Rs. 2500
3. Rs. 1500
4. Rs. 4500

Options :

1. %1

2.9 2

3.%3

4, % 4

Question Number : 156 Question Id : 39226614516 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Equity shareholders are
1; Creditors of the company

.4 Owners of the company

LS |

Customers of the company

4. Debtors of the company

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 157 Question Id : 39226614517 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A is an instrument in writing containing an
unconditional order signed by the maker, directing a certain
person to pay a certain sum of money only to. or to the order
of certain person or to the bearer of the instrument

i Bills of exchange
2 Promissory Note
3. Cheque
4. Demand draft
Options :
1.¢1
2. %2
3.%3
4. % 4

Question Number : 158 Question Id : 39226614518 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When the bill 1s noted from the notary public. it 1s known as

1. Noting

-2

Discounting

4

3. Accepting
4, Endorsing

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 159 Question Id : 39226614519 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In accounting “becoming out of date™ is known as

1. Amortization
2. Obsolescence
3. Depletion
4, Physical deterioration
Options:
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 160 Question Id : 39226614520 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Account sales 1s sent by

I Consignee to Consignor

-2

Consignor to Consignee
Debtors to Creditors

4. Creditors to Debtors

L |

Options :
1.9 1
2. % 2
3.%3
4, % 4

Section 5
SectionId: 392266455
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 20

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 392266480
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 39226614521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Student can acquire Knowledge starts from family finally
reached to universal concepts™ stated by

1. Mudaliar Commission
2. Secondary Education Commission
3. Kothari Commission

4. National Education Policy - 1986

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 162 Question Id : 39226614522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Tests used to assess special talents are

1. Practice tests

19

Aptitude tests

A

3. Anecdotal record

4. Rating Scale

Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 163 Question Id : 39226614523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

The word “Historia™ is derived from this language

1. Greek
2. Arabic
3. Latin
4. French

Options :

1.4 1

2. %

3. %3

4. % 4

Question Number : 164 Question Id : 39226614524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Appreciation objective belongs to this domain

L. Cognitive
2. Psychomotor
3. Meta Cognitive

4. Effective

Options:
1. %1
2. %2
3.%3
4, 4

Question Number : 165 Question Id : 39226614525 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is useful to achieve educational

objectives
1. Interests
2, Teaching objectives
3 Evaluation
4. Assessment
Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 166 Question Id : 39226614526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Student construct new knowledge on their own in new
situation by using their previous knowledge is

1. Knowledge construction
2. Information collection
3 Self-Test
4. Conceptualization
Options :
1.¢¥1
2. % 2
3.%3
4. % 4

Question Number : 167 Question Id : 39226614527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Compare and differentiate functions of gram panchayat and
Municipalities™ question belongs to this objective.

1. Application
2. Knowledge
3. Attitude

4. Understanding

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 168 Question Id : 39226614528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Curriculum is the plan of learning™ stated by
| Murry

2. Crow and Crow

Walter tara

4. Krathwohl

fad

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 169 Question Id : 39226614529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to this section of RTE Act-2009. Children have
right to join in age appropriate class

¥ Section (4)

2. Section 30 (1)
Section 29 (2)

4, Section 29 (1). (2)

Tad

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 170 Question Id : 39226614530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

National Education policy-1986 envisages that any subject
shall emphasise this number of core concepts

L 7
.4 8
G 8 9
4. 10
Options:
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 171 Question Id : 39226614531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



While teaching a concept — established internal correlation
with other subjects is called

i Circular approach
2. Correlated approach
3. Logical approach

4. Topical approach

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 172 Question Id : 39226614532 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This can be inculcate among students buy studying social
resources

1. Sports integrity

2. Political integrity

3. Economical integrity

4. Cultural integrity

Options :
1. %1
2. % 2
3.%3
4. ¥ 4

Question Number : 173 Question Id : 39226614533 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This committee opined that museum is needful to school
1. Radha Krishnan Commission
2, Ramaswami Committee
3. S11 Prakash Committee
4. Janardhana Reddy Committee
Options:
1. %1
2. % 2
3.3
4. % 4

Question Number : 174 Question Id : 39226614534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This strategy can be used in schools to invent new hypothesis
in education

L. Micro teaching
2. Macro teaching
3. Animation
4. Action research
Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 175 Question Id : 39226614535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The map selected by you as a teacher to teach boundaries of
Andhra Pradesh 1s

I Geographical map
2, Political map
3 Information based map

4. Flat map

Options:
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 176 Question Id : 39226614536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following question has no scope for subjectivity

1. Explain merits and demerits of population growth
2 Compare democracy and dictatorship
3. What form of democracy 1s in India?
4. Indian democracy is Time tested, explain how it is
Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 177 Question Id : 39226614537 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is teacher centered method
1L, Project method
24 Resource method

Discussion method

L |

4. Lecture method

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 178 Question Id : 39226614538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This 1s also called natural constructivism
1. Team teaching
2, Mind Mapping

Resource method

()

4. Problem solving method
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 179 Question Id : 39226614539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The Prime aim of this is to improve teaching learning process
1. Formative evaluation

= Summative evaluation

L |

Comprehensive evaluation

4. Predictive evaluation



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 180 Question Id : 39226614540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This type of assignment is useful to understand comprehension
levels of student

1. Revisional assignments
2. Study assignments
3. Remedial assignments
4. Preparatory assignments
Options :
1.941
2. %2

3. % 3
4. % 4

Question Number : 181 Question Id : 39226614541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The first step i problem solving method
1. Data collection

2, Define the problem

L |

Recognise the problem

4, Analyse the problem

Options :
1. %1
2. %2
3.3
4, % 4



Question Number : 182 Question Id : 39226614542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Number of ‘E’ in Rogar Babee teaching model
1. 6

2

LN

=

3

4,
Options :
1. % 1
2.9 2
3.%3
4. % 4

o

Question Number : 183 Question Id : 39226614543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s also called abstract map

i, Pictorial graph
2. Line graph
3. Pie graph
4. Bar graph
Options:
1.41
2. %2
3.%3
4. % 4

Question Number : 184 Question Id : 39226614544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In micro teaching time duration in minutes for student teach to
teach micro lesson is

1. 15-20 min
2. 20 - 25 min
3. 10-15 min
4. 5-10 min

Options :

1. % 1

2. %2

3. %3

4. 4

Question Number : 185 Question Id : 39226614545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According ‘Koban® observation experiment results Learning
through listening 1s

1. 11%
2. 83%
3. 3.5%
4. 1.5%

Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 186 Question Id : 39226614546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The line device used to present total earth’s surface or part
with reduced measurements 1s

1. Model
2. Chart
3. Map
4. Graph

Options:

1. % 1

2. % 2

3.¥3

4. % 4

Question Number : 187 Question Id : 39226614547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Problem solving method is a type of teaching method”

stated by
1. John Dewey
2 Kilpatrick
3. Stevenson
4. Ballard
Options :
1.¢ 1
2. %2
3. %3
4. % 4

Question Number : 188 Question Id : 39226614548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In this method learning generalize concepts from general to
specific. abstract to concrete

1. Inductive method
2 Deductive method
3 Analytical method

4. Synthetically method

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 189 Question Id : 39226614549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Zone of proximal Development (ZPD) introduced by

L Jean Piaget

-2

John Dewey

Tl

Kilpatrick
4, Vygotsky

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 190 Question Id : 39226614550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Har1 Gamison. Kallenbach. Keth Achison conducted
researches on

1. Macro teaching
2 Micro teaching
: Fragment teaching

4. Team teaching

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 191 Question Id : 39226614551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The colour used to indicate a place 500-1000 meter higher
than mean sea level in map 1s

1. Light green
2. Dark green
3. Yellow

4. Red

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 192 Question Id : 39226614552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



National council for educational research and training
established in the year

W 1962
2. 1961
3. 1960
4. 1964

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 193 Question Id : 39226614553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Creativity, Natural happiness are very important for
childhood” stated by

B Prof. Chattopadhyaya
2. Mahatma Gandhi
3. Gurunanak
4, Ravindranath Tagore
Options:
1. % 1
2. %2
3.%3
4.4 4

Question Number : 194 Question Id : 39226614554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct statements regarding cone of experience

a. Edgar Dale explamned about Audio Visual aids in
teaching
b. Strips in the cone of experience are separate entities
£ Direct experiences are at the base, verbal explanations
are at the top
d. Cone contains 3 important divisions 1.e.. activities.
observations, Technicals
1. a,c.d
. b.c.d
3 a,b,c
4. a,b,c.d
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 195 Question Id : 39226614555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Evaluation is the process of analyse evidences of behavioural
change during children progress in school academic activities™

— stated by
1. Rolf Tylor
2. Tuckman
3 Henna
4, Writing stone
Options :
1. % 1
2. % 2
3.¥3

4. % 4



Question Number : 196 Question Id : 39226614556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Evaluation after conduction of specific teaching learning

process 1s
1. Diagnostic evaluation
2. Suminative evaluation
3. Formative evaluation
4. Predictive evaluation

Options :

1. % 1

2.¥2

3. %3

4. % 4

Question Number : 197 Question Id : 39226614557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Collecting information directly from a person 1s
1. Check list

Aptitude test

-2

Observation

L |

4, Interview

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 198 Question Id : 39226614558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following commission opined that “Drastic changes are
required in teacher training in the scenario of decreasing
professional values™

1. Secondary education commission
2. Chattopadhyaya
3. Yeshpal Committee

4, Ranga Rajan Committee

Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 199 Question Id : 39226614559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Our educational objective is to attain 21% century skills and
world class academic standards™ stated by

L. NEP - 1986
2. NCF - 2005
3; RTE - 2009
4. NEP - 2020

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 200 Question Id : 39226614560 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Iswarbhai Patel Committee recommended that this science can
teach as a part of social studies teaching

L. History
2. Economics
3. Geography
4, Civics
Options:
1. % 1
2.¥2

3.%3
4. % 4





